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Instructions for the Candidates

1. Write your roll number in the space provided on the top of
this page.

2. This paper consists of fifty multiple-choice type of questions.

3. Atthe commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are
requested to open the booklet and compulsorily examine it
as below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not accept
an open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra time
will be given.

(iii) After this verification is over, the Serial No. of the
booklet should be entered in the Answer-sheets and
the Serial No. of Answer Sheet should be entered on
this Booklet.

4. Each item has four alternative responses marked (A), (B),

(C) and (D). You have to darken the oval as indicated

below on the correct response against each item.

Bxample : (7D ® ©

where (C) is the correct response.

5. Your responses to the items are to be indicated in the Answer
Sheet given inside this Booklet, which is common for
Paper I and Paper II. If you mark at any place other than
in the ovals in the Answer Sheet, it will not be evaluated.

6. Read instructions given inside carefully.

7. Rough Work is to be done in the end of this booklet.

8. If you write your name or put any mark on any part of the
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render
yourself liable to disqualification.

9. You have to return the test question booklet to the
invigilators at the end of the examination compulsorily
and must not carry it with you outside the Examination
Hall.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There is NO negative marking.
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Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

T8 YIS B U9 (50) Tg-fashedd W¥H €1 TS U % 9 (2) 37k ¥ 1 W I % SR

i |
1.  Which of the following is not instructional material ?
(A) Over Head Projector (B) Audio Casset
(C) Printed Material (D) Transparency
2. Which of the following statement is not correct ?

(A) Lecture Method can develop reasoning

(B) Lecture Method can develop knowledge

(C) Lecture Method is one way process

(D) During Lecture Method students are passive

3.  The main objective of teaching at Higher Education Level is :
(A) To prepare students to pass examination
(B) To develop the capacity to take decisions
(C) To give new information
(D) To motivate students to ask questions during lecture

1. 9 9 @ S STeye 9t 78 § 2
(A) 3R B UeieX (B) onfedt Hde
(C) =T |l (D) IOt

2. T H@ oF @ we W T R ?
(A) % Wifsa o1 T = fafy gro 2 gk €1
(B) = o ferehre =area forfer gry & ek §1
(C) = fafy ws awwr e 71
(D) = fafy & SR =™ ffea ga €

3. 3= fnen & T w e 1 Usu R9A B
(A) BE H! T8 I8 F % AU TR S
(B) Tuia ©F =t &Tal 1 fashre e |
(C) 2 M 1|
(D) AN & QA Y94 Y21 o faig 1 &l 9Ra e |
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4.  Which of the following statement is correct ?
(A) Reliability ensures validity
(B) Validity ensures reliability
(C) Reliability and validity are independent of each other
(D) Reliability does not depend on objectivity

5.  Which of the following indicates evaluation ?
(A) Ram got 45 marks out of 200
(B) Mohan got 38 percent marks in English
(C) Shyam got First Division in final examination

(D) All the above

6.  Research can be conducted by a person who :
(A) has studied research methodology
(B) holds a postgraduate degree
(C) possesses thinking and reasoning ability

(D) is a hard worker

7.  Which of the following statements is correct ?
(A) Obijectives of research are stated in first chapter of the thesis
(B) Researcher must possess analytical ability
(C) Variability is the source of problem
(D) All the above

8.  Which of the following is not the Method of Research ?

(A) Observation (B) Historical
(C) Survey (D) Philosophical
9. Research can be classified as :

(A) Basic, Applied and Action Research
(B) Quantitative and Qualitative Research

(C) Philosophical, Historical, Survey and Experimental Research
(D) All the above
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4, A I M HRA TR T?
(A) Tovagra duar #1 ghafvea Fdt 7
(B) dua, favaeseal & gifraa &t g
(C) favaaiaar 3R Sear Te ga ¥ W 2 |
(D) forgergtean, aegfga W R T8 wdt |

5. freAfafed # 9 M 91 Jedic &l SHTd Sl € 7
(A) 9 200 H ¥ 45 T 9T g |
(B) HIgA @l 31U H 38 Yfwrma i T g |
(C) ™ SAfqq wden ® gerg ot # 9 g3 |
(D) WA gt

6. TNY 98 AR T HAHA T :
(A) forem sy fafy ot &
(B) TS I TR Sy ®
(C) foH drem =) o aeh 1 &mar B |
(D) <7 uftget &

7. Trafafed § @ & @ woF 98§ 2
(A) TY % ST I MY TG F 999 T B foad €
(B) Sierehdl B faveiwulcHer 2warat gt =fed |
(C) oo w1 & 1
(D) WA gt

8. Trofafad ¥ & et oy fafy 7gt 872
(A) SATcTHA (B) TUfaerfas
(C) Hderor (D) TRIH®

9.  INY I Fhd H THhd © :
(A) T, JrEfiTs iR B
(B) HATH® 3R U ¥y
(C) TwifTe, Uferiass, Teiemn ok grifTs oy
(D) WA gt

WXYZ—00 5

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click

P.T.O.



10.

11.

12.

The first step of research is :
(A) Selecting a problem (B) Searching a problem
(C) Finding a problem (D) Identifying a problem

Read the following passage and answer the question nos. 11 to 15 :

After almost three decades of contemplating Swarovski-encrusted navels on
increasing flat abs, the Mumbai film industry is on a discovery of India and itself. With
budgets of over 30 crore each, four soon to be released movies by premier directors are
exploring the idea of who we are and redefining who the other is. It is a fundamental
question which the bling-bling, glam-sham and disham-disham tends to avoid. It is
also a question which binds an audience when the lights go dim and the projector
rolls : as a nation, who are we ? As a people, where are we going ?

The Germans coined a word for it, zeitgeist, which perhaps Yash Chopra would
not care to pronounce. But at 72, he remains the person who can best capture it. After
being the first to project the diasporic Indian on screen in Lamhe in 1991, he has returned
to his roots in a new movie. Veer Zaara, set in 1986, where Pakistan, the traditional
other, the part that got away, is the lover and the saviour. In Subhas Ghai’s Kisna, set
in 1947, the other is the English woman. She is not a memsahib, but a mehbooba. In
Ketan Mehta’s The Rising, the East India Englishman is not the evil oppressor of countless
cardboard characterisations, which span the spectrum from Jewel in the Crown to
Kranti, but an honourable friend.

This is Manoj Kumar’s Desh Ki dharti with a difference : there is culture, not
contentious politics; balle balle, not bombs : no dooriyan (distance), only nazdeekiyan
(closeness).

All four films are heralding a new hero and heroine. The new hero is fallible and
vulnerable, committed to his dharma, but also not afraid of failure - less of a boy and
more of a man. He even has a grown up name : Veer Pratap Singh in Veer-Zaara and
Mohan Bhargav in Swades. The new heroine is not a babe, but often a bebe, dressed in
traditional Punjabi clothes, often with the stereotypical body type as well, as in Bride
and Prejudice of Gurinder Chadha.

Which word Yash Chopra would not be able to pronounce ?
(A) Bling + bling (B) Zeitgeist
(C) Montaz (D) Dooriyan

Who made Lamhe in 1991 ?
(A) Subhash Ghai (B) Yash Chopra
(C) Aditya Chopra (D) Sakti Samanta
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10.

11.

12.

T T YUY G T
(A) HHEN FT I (B) T i &l
(C) EHHT T Tdl T (D) 99 &I g9

FeforRRaa 1o &1 Uied a9r 11 & 15 d& & T91 & 3¢ gy -

e T ST Gk SIS o =9 TS i SYHU Sfed WA & 6l fHHe T/ & 9]
Hesa fRew ST ARA Ja &1 Seie TRET T30 1 To-98 & 91 94 SR g3 ST qar
H e T § 1 IR ygE SR @t 30 - 30 FUS T W 2Afe & eIwre arelt iR vy € fefist g
Areft =R o] | 278 ST 1 Hifee a1 1 & 8 § for &0 i €, @l 1 off g qiefia foeen
T R | IE At U § FEeh SR e § YIRS @ Shadd ¢ | 9% UE gare ot § S e
TfgH B 3R Troieet e % Y € <] H T AT | Th TP-To9 & ®Y H gH & A 2 Th
I FEIH A FE ARG ?

AT A 38 AT T g 39IE TR o - SESie | I91 |idel YIRS SHeh! Searvl of 9
FTeh | fohg, 72 It <l §t U8 Ao § S 58 SRge < Wehd § | 9RATT q& % AR bl
TR W (1991 F T §) fe@m At Teat fhewsR &1 = eifae %% % 915 9 78 fhed IR SN
H 7ot SISl it AR e 3T 1 I8 fhew 1986 % SR W eenfia § fore mfsheam =1, <t fo
RSN €9 § T B, 9% o6 S 1o 1 T - YT SR SETehdl o w9 H fo@mn T
1947 % R R 3MRd Gy =€ &t fre’ § W % w9 § U e ufeen w1 fow@mn @ ¥
I his HAEES T8l dfcsh Heddl ¢l had Hedl &l ‘T TR’ H T sfedn weat # SIS
STEST AN I T a1 gE T4, S ST §9  HeT § ARl HH qh el g1 €, dfesw
TSR T B |

SEd: ANl HHR F < H1 AT Th 3T Thed ¢ : 3T F&hd ¢, faaemag et
T, TR-TW R, oS TG : AT e TSI R § |

3 =R et B SR SRS 1 T 791 <950 TS0 L@ 8 | 39 ¢ R | HESdi ¢, I8
HASTINA T, 3T g o YT FEEM T i STH%edl § Sl T2l € - 9% gae &, T&W S
B 31 A ot gRusTdr 1 Udie © ;TR SR H R yadfEe iR ey’ # Hed unig | |18
ERIET I HAMHT IRG §HIT Tl § sfesh IRYReR Gors feamd H 33 WRAE a1 aelt ol €,
St foh TR =gt #1 e e Isygfen’ H fewdt ¥

7191 =Sl e Iog 1 e | g Tl 8 gk ?
A) T + = (B) SR
(C) et (D) gfer

1991 ¥ wv% g o off ?
(A) g = (B) =¥ <l
(C) anfee =vel (D) s T
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13.  Which movie is associated with Manoj Kumar ?
(A) Jewel in the Crown (B) Kisna
(C) Zaara (D) Desh Ki dharti

14. Which is the latest film by Yash Chopra ?
(A) Deewar (B) Kabhi Kabhi
(C) Dilwale Dulhaniya Le Jayenge (D) Veer Zaara

15. Which is the dress of the heroine in Veer-Zaara ?
(A) Traditional Gujarati Clothes
(B) Traditional Bengali Clothes
(C) Traditional Punjabi Clothes
(D) Traditional Madrasi Clothes

16.  Which one of the following can be termed as verbal communication ?
(A) Prof. Sharma delivered the lecture in the class room.
(B) Signal at the cross-road changed from green to orange.
(C) The child was crying to attract the attention of the mother.

(D) Dipak wrote a letter for leave application.

17.  Which is the 24 hours English Business news channel in India ?
(A) Zee News (B) NDTV 24x7
(C) CNBC (D) India News

18. Consider the following statements in communication :
(i) Hema Malini is the Chairperson of the Children’s Film Society, India.
(i)  Yash Chopra is the Chairman of the Central Board of Film Certification of India.
(iii) Sharmila Tagore is the Chairperson of National Film Development Corporation.

(iv) Dilip Kumar, Raj Kapoor and Preeti Zinta have all been recipients of Dada Saheb
Phalke Award.

Which of the statements given above is/are correct ?

(A) (i) and (iii) (B) (i) and (iii) (C) (iv) only (D) (iii) only
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13. WA HUR | FAH fhen Hafyd €2
(A) A T T BH=A (B) Teg
(C) N (D) <9 H G
14. 99 A9l & TAHdH fHeq SE 2
(A) AR (B) Hi-weft
(C) fearamel geefal & WM (D) RSN
15. IR SN H SRS w0 AR ?
(A) RS TR IS
(B) TRSUUTA et IS
(C) TRENTA Ul IS
(D) TREITA HETH HUS
16. fiedfefaa o @ frmen Hifgen GuR el ST Fehdl ¢ 2
(A) YIHEI IMT A el | oleer fea |
(B) TRIE WSS & & A 1 i & R |
(C) TRy oot AT i1 &AM STUHT 3TR STRftd & & forq foree @1 o)
(D) <9® 7 NI Ui ©q T 7 @ |
17. ¥R ¥ 24 YU o I SAGITS GHER S HI9T € ?
(A) St =S (B) TASKIET 24 x7
(C) HiTsird (D) sfoean ==
18. HUR ¥ Hafyq fsafafad weml T fo=m s
() & Hifer faeea fhew dmad, sfvean =t ereaen €1
(i) I =9 UG F YA oIS ATh fthen Aiefherym & e7e7et €1
(ili) SIHET IR A9 fhed SaaTTHe HTIRM 1 TE8T |
(iv) Teef™ FOR, T FR IR Wit ffer =1 <1 TRe ek TR foer 7
ST H A H/A wed wE R/R?
(A) (i) 3R (iii) (B) (ii) 3T (iii) (C) Had (iv) (D) Had (iii)
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19. Which of the following pair is not correctly matched ?
(A) N.Ram : The Hindu
(B) Barkha Dutt : Zee News
(C) Pranay Roy : NDTV 24 x7
(D) Prabhu Chawla : Aaj taak
20. “Because you deserve to know” is the punchline used by :
(A) The Times of India (B) The Hindu
(C) Indian Express (D) Hindustan Times
21. In the sequence of numbers 8, 24, 12, X, 18, 54 the missing number X is :
(A) 26 (B) 24 (C) 36 (D) 32
22. If A stands for 5, B for 6, C for 7, D for 8 and so on, then the following numbers stand
for 17, 19, 20, 9 and 8 :
(A) PLANE (B) MOPED (C) MOTOR (D) TONGA
23. The letters in the first set have certain relationship. On the basis of this relationship
what is the right choice for the second set ?
AST : BRU : : NQV : ?
(A) ORW (B) MPU (C) MRW (D) OPW
24. In a certain code, PAN is written as 31 and PAR as 35. In this code PAT is written as:
(A) 30 (B) 37 (C) 38 (D) 39
25. The sides of a triangle are in the ratio of %%% . If its perimeter is 52 cm, the length of
the smallest side is :
(A) 9cm (B) 10 cm (C) 11 cm (D) 12 cm
26. Which one of the following statements is completely non-sensical ?
(A) He was a bachelor, but he married recently.
(B) He is a bachelor, but he married recently.
(C) When he married, he was not a bachelor.
(D) When he was a bachelor, he was not married.
WXYZ—00 10
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19. freAfafed # ¥ e g gafad 78 €2
A) mw™ . <Tfeg
(B) W@IT S =S
(C) YR  :  TASEE! 24x7
(D) Yg=@Eal : AN d%
20. ‘'SR SR STToh AR ©'' 39 i 1 A R S g
(A) T ST ATH 3o g (B) cfeggm
(C) zfream Twuyw g (D) f&g&M <EsH g0
21. 8,24,12, X, 18, 54 3i% Sj@ell H, g 31 X ¥ :
(A) 26 (B) 24 (C) 36 (D) 32
22. ACAFIHE 5T, BHI A6 7, C H1 HeA 7, D 1 Yoo 8 31 &, ot Frfarfaa geansii o
I § - 17,19, 20, 9 3R 8 :
(A) PLANE (B) MOPED (C) MOTOR (D) TONGA
23. Ted W= & el § U fafiw oy ¥ 39 Hay F YR W W 9= % forw wdt faskew
HAAT T ?
AST : BRU : : NQV : ?
(A) ORW (B) MPU (C) MRW (D) OPW
24. fwd F2H PAN &1 31 % €9 ¥ foan 51 € iR PAR &1 35 % €9 ¥ faan a1 ¢1 59 w2 o
PAT & foau feran smam .
(A) 30 (B) 37 (C) 38 (D) 39
25. e Y T eneli #1 A %%% 71 afe sg=t afify 52 ¥ fR €, @ ST TR B
ST %1 T9E ©
(A) 9 &L (B) 10 &4 (C) 11 &, (D) 12 4.
26. TroAfafed # @ FiAE1 T HeA qoia: fefs g2
(A) I8 Fom o, foheg 5o w1 & forame fopan 1
(B) 9% $aN g, fheg 38 =1t &1 H foae o B
(C) <& 38 foame faran o, e 9% S =&t o
(D) & 9% FAN N, 79 98 faanfed T o)
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27.  Which of the following statements are mutually contradictory ?

(i)  All flowers are not fragrant.
(i) Most flowers are not fragrant.
(iii) None of the flowers is fragrant.
(iv) Most flowers are fragrant.

Choose the correct answer from the code given below :

Code :
(A) (i) and (ii) (B) (i) and (iii)
(C) (i) and (iii) (D) (iii) and (iv)

28.  Which of the following statements say the same thing ?
(i) “I am a teacher” (said by Arvind)
(i) “I am a teacher” (said by Binod)
(iii) “My son is a teacher” (said by Binod’s father)
(iv) “My brother is a teacher” (said by Binod'’s sister)
(v)  “My brother is a teacher” (said by Binod’s only sister)
(vi) “My sole enemy is a teacher” (said by Binod’s only enemy)

Choose the correct answer from the code given below :

Code :
(A) (i) and (ii) (B) (i), (iii), (iv) and (v)
(C) (i) and (vi) (D) (v) and (vi)

29. Which of the following are correct ways of arguing ?

(i)  There can be no second husband without a second wife.

(ii) Anil is a friend of Bob, Bob is a friend of Raj, hence Anil is a friend of Raj.
(iii) A is equal to B, B is equal to C, hence A is equal to C.

(iv) If everyone is a liar, then we cannot prove it.

Choose the correct answer from the code given below :

Code :

(A) (iii) and (iv) (B) (i), (iii) and (iv)

(C) (ib), (iii) and (iv) (D) (i), (ii), (iii) and (iv)
WXYZ—00 12
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27. frfafas & @ =9 w99 WER A € 2
() Tt Tt garrad & B ¥ |
(i) IR Fel garfad & B
(iii) T off Fo1 ganfaa TEl el
(iv) AT Fe garrad e ¥
forferiad %2 9 w8 SR 9T ;
&
(A) (i) 3 (i) (B) (i) 3 (i)
(C)  (ii) 3R (iii) (D) (iii) 3R (iv)
28. Troafefad # @ $HY U Ts & o1 F8d ¢ 2
() ‘8w teAmgE g (SRfa gR e )
(i) *H e et € (forie g0 et )
(i) ‘‘O0 A U A ¢ (foHe % fuan gr et )
(iv) ‘00 9 U ereamass B (foAe #t 987 510 e )
(v) HT R U oreames § (fIFIe it SRt sed g el T
(vi) ‘' Zhard I3 T A 7 (faie % shalid 19 g1 el )
firferfiad %2 9 Wt SR 9T -
&
(A) (i) 3 (i) (B) (i), (iii), (iv) 3 (v)
(©) (i) 3 (vi) (D) (v) 3 (vi)
29. froafafed § @ 94 0 & &1 °E ¥ 2
() &0 ueht & fomr <om ufa e < TR
(i) 3T, e 1 fae €, e, T o1 fi @, eora: etfat, o o1 e 2
(i) A, BF UM, B,C % TUM g, 3a@: A, C % TAH B
(iv) afe Qi el €, @ 39 39 & fag e g |
forferfiad %< 9 Wt SR 9T -
- i
(A) (iii) R (iv) (B) (i), (iii) 3R (iv)
(©) (i), (iii) 3R (iv) (D) (i), (i), (iif) 3R (iv)
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30. Which of the following statement/s are ALWAYS FAISE ?
(i)  The sun will not rise in the East some day.
(ii) A wooden table is not a table.
(iii) Delhi city will be drowned under water.
(iv) Cars run on water as fuel.
Choose the correct answer from the code given below :
Code :
(A) (), (iii) and (iv) (B) Only (iii)
(C) (i), (ii) and (iii) (D) (ii) alone
Study the following graph and answer question numbers 31 to 33 :
—&—— Year 2000
—&—— Year 2001
el
£
‘.:5
(oW
E
2
o
a b c d e f
COMPANY
31. In the year 2000, which of the following Companies earned maximum percent profit ?
(A) a (B) b (© d (D) f
32. In the year 2001, which of the following Companies earned minimum percent profit ?
(A) a (B) «c¢ (©) d (D) e
33. In the years 2000 and 2001, which of the following Companies earned maximum
average percent profit ?
(A) f (B) e (©) d (D) b
WXYZ—00 14

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




30. frfafad # 9 &iF 91/9 %97 999 38 8 © 2
() Tt for 9 oo & 3fea =& <
(i) TThel %1 AW, U &l B
(i) @ T U H <& S|
(iv) &R U EeF % w9 TS o |
Frefafed %e 9 92 SR g
.
(A) (i), (iii) 3R (iv) (B) had (iii)
(©) (), (i) 3R (i) (D) e (i)
ST 3G T 37T FITT U 97 Toer 31 @ 33 da & 3¢ Iy -
——e—— 3% 2000
—=—— 35 2001
70 —
60 —
50
%40
%30
5
10
o
a b o d e f
Fa
31. a9 2000 #, 57 9 9 fhg et 7 waifys gfawa v o foman ?
(A) a (B) b € d (D) f
32. =¥ 2001 #H, F159 9 § ford ssat 3 =Fad gfaed ey o foha ?
(A) a B) « € d (D) e
33. 9 2000 W& 2001 H, 7 # | ford et 3 Faifass oiwa gfae @y o foman 2
(A) f B) e € d (D) b
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* FOR BLIND STUDENTS ONLY *
Read the following paragraph and answer question numbers 31 to 33 :

Five years ago, Middle East-based builder Ronald Colaco took two foreign friends
to the Fraser Town Police Station in Bangalore to complete some paper work. He and
his friends were appalled by the cramped, 1917 - built police outpost. Then and there,
Colaco decided to do something for the city’s 13,500 strong police force. But he knew
he could not work a miracle alone. Luckily, he found a kindred soul in Bangalore
Police Commissioner S. Mariswamy.

Armed with information gathered from personal station visits, Mariswamy wrote
to Bangalore’s industry captains. Corporate and individual donors - Colaco was the
first - have contributed nearly Rs. 20 Crore. Today, nearly 40 police stations in Bangalore
have sponsors. Wipro, Philips Software, Canara Bank, State Bank of India, Toyota
Kirloskar and Tata Consultancy Services are a few.

31. Which Police Station was visited by Ronald Colaco, which was built in 1917 ?
(A) Bangalore Police Station (B) Police Outpost
(C) M.G. Road Police Station (D) Fraser Town Police Station
32. Who is S. Mariswamy ?
(A) Bangalore Police Commissioner (B) Middle East-based builder
(C) Industrialist (D) Chairman of Philips Software, Bangalore
33. To develop the Police Stations who was the first donor ?
(A) Ronald Colaco (B) Canara Bank
(C) Wipro (D) Toyota Kirloskar
34. Human Development Report for ‘each” of the year at global level has been
published by :
(A) UNDP (B) WTO
(C) IMF (D) World Bank
35. The number of students in four classes A, B, C, D and their respective mean marks
obtained by each of the class are given below :
Class A ClassB ClassC Class D
Number of students 10 40 30 20
Arithmetic mean 20 30 50 15
The combined mean of the marks of four classes together will be :
(A) 32 (B) 50 (C) 20 (D) 15
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g faenfean & fau

1o fafea sTg=ec ®l dfgd qe 31 9 33 % o Ul o SeR QIIT :

e 598 & w1 THT 7, HeA TR § 99 wed Fian IMmee wiament oo 3 foeeh s
1 | TR HIE HITS HIAATE T HH o AT S7TeR & o 2 oM 789 | o 1R 379k it
1917 ® 9 39 Ut gferd =ikt &t B1eTd S@H 3 | ® T | SHT T HIATR 7 e w1
feran for @ SR H 13,500 F9A Ifaq wHAl & U 8 HT0 | Al o S o foh o Tkt
et SRR il TS 721 < TR | ST § 3% STe & e ATgsq T, ARG o &9 |
T AR SAfsd et T

FT AT HI SN F JLE T8 TGN o SR TR TR 7 SeR o it s 9
e <1 1 ST TR | wRuie s AR et gmeran, 999 il gagem 9, o1sft 9@
TN 20 FUS & 1 AFCH < b & | Tl 78 § FoF o9 ST o @19 40 o & fag
RIS 39ar<d &1 T4 B 1 39 ¥ 9 fau, fRfaw afsedsy, %70 9@, We 9% o sfue,
At foraieany 31 2rer Faeedt ¥ |

31. ATCS IRl §R hiAel Yfad o <@ o o, feen faior 1917 7 gt a1 ?

(A) STeR gfe™ o (B) fad 3= U

(C) THSIS Yferd wIM (D) SR 2= Yferd RIH
32. U, Wi ®F §?

(A) TR YfTd HfATR (B) " U &1 wed fufan

(C) EwMfd (D) TR Hrsear dTeR 1 eTeaet
33. Ui oMl o o & fofu geyed gHemT i 9 ?

(A) ATeS HIATHI (B) & &®

(C) form (D) 2T fohateny
34, fava ¥R W y® a9 A SaaHe U 1 YoM fohan S € -

(A) JTEIW. g (B) Y.L BN

(C) STE.TH.TH. g} (D) fava 5= gr

35. A, B,C, 3R D ®ena § faenfei 1 g X STkl el g’ U 3iid iR i fea mn

HEMTA Se&lm B Han C Ham D

faenfefai ==t T 10 40 30 20

FRnfor STa 20 30 50 15

T AR HESA & 3kl Ht WIS Hd B

(A) 32 (B) 50 (C) 20 (D) 15
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36. LAN stands for :
(A) Local And National (B) Local Area Network
(C) Large Area Network (D) Live Area Network
37. Which of the following statement is correct ?
(A) Modem is a software
(B) Modem helps in stabilizing the voltage
(C) Modem is the operating system
(D) Modem converts the analog signal into digital signal and vice-versa
38. Which of the following is the appropriate definition of a computer ?
(A) Computer is a machine that can process information.
(B) Computer is an electronic device that can store, retrieve and process both
qualitative and quantitative data quickly and accurately.
(C) Computer is an electronic device that can store, retrieve and quickly process only
quantitative data.
(D) Computer is a machine that can store, retrieve and process quickly and accurately
only qualitative information
39. Information and Communication Technology includes :
(A) On line learning (B) Learning through the use of EDUSAT
(C) Web Based Learning (D) All the above
40. Which of the following is the appropriate format of URL of e-mail ?
(A) www_mail.com (B) www@mail.com
(C) WWW@mail.com (D) www.mail.com
41. The most significant impact of volcanic erruption has been felt in the form of :
(A) change in weather (B) sinking of islands
(C) loss of vegetation (D) extinction of animals
42. With absorption and decomposition of CO, in ocean water beyond desired level, there
will be :
(A) decrease in temperature (B) increase in salinity
(C) growth of phyto plankton (D) rise in sea level
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36. TALTA. (LAN) HSsed il §
(A) T TS T (B) ket UfReT Jeaeh
(C) st uftem Feash (D) wEa YT Feah
37. Troafoafed & @ #F 91 %o 98l 82
(A) TIZH T HeaR |
(B) TISH, e i fEudiehiol w7 H Ferdl i T
(C) HISH Us Mwfen fawy g1
(D) Hrew, s fora @ fefvea fara § iR s9% fouda agaa 21
38. 7o H 9 o= it SUYSH Ul i H 72
(A) FHR TH AIA T ST G 1 Henifd 3 Fehell 7|
(B) T Uk Seiogl(eh Teamgd § Sl TUMcH: 3R TATcHs: SR 1 IR, TH: I 31X
e T & TEI-He FUa R Tha § |
(C) HoFR T Toiogl-eh Ay ¢ Sl UsAIHS SN i GUed, IH: W iR diamtd 9
GG T Hehell T |
(D) FoHR Tk A & S TUNcHsh FHFN 1 G, T: W iR fig 1fa ¥ Fet-get
i R Hehell T |
39. = T8 SR Uit ¥ wienfed €
(A) 3 @ (On line) |G (B) EDUSAT & Hea® | HE
(C) 99 %S (Web Based) H@ (D) STASA Tt
40. 1579 9 9 3-99 & . SIRTA. (URL) FT T 91 YEY STISA © 7
(A) www_mail.com (B) www@mail.com
(C) WWWe@mail.com (D) www.mail.com
41, SACTE! ITMR o AT Heequl T4 i I g © ¢
(A) g 9feds & ®9 (B) Ui % gUA G
(C) oeafd &1 &@ 8 @ (D) TYaii 1 faeia g9 @
42. R ST@ H CO, % | difed W) 9 Ay Temioo qo1 forsed 81 & 91
(A) AIEE T HH B (B) WNUA ¥ sered Bt
(C) URY Wished | gfg Bt (D) wHfes TR H UM M
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43. Arrange column II in proper sequence so as to match it with column I and choose the
correct answer from the code given below :
Column 1 Column 11
Water Quality pH Value
(a) Neutral i) 5
(b) Moderately acidic (i) 7
(c) Alkaline (iii) 4
(d) Injurious (iv) 8
Code :
(@ ) (o (@)
(A) @) @) @ (1)
®) @ @) G (i)
©) () @ (v) (i)
(D) @Gv) @) @) ()
44. The maximum emission of pollutants from fuel sources in India is caused by :
(A) Coal (B) Firewood
(C) Refuse burning (D) Vegetable waste product
45. The urbanisation process accounts for the wind in the urban centres during nights to
remain :
(A) faster than that in rural areas
(B) slower than that in rural areas
(C) the same as that in rural areas
(D) cooler than that in rural areas
46. The University Grants Commission was constituted on the recommendation of :
(A) Dr. Sarvapalli Radhakrishnan Commission
(B) Mudaliar Commission
(C) Sargent Commission
(D) Kothari Commission
47. Which one of the following Articles of the Constitution of India safeguards the rights of
Minorities to establish and run educational institutions of their own liking ?
(A) Article 19 (B) Article 29 (C) Article 30 (D) Article 31
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43. T I1 1 FeH [ 9 Gafad w0 & fau gqfaa st § afed sifse qon 9= fou e e
q HEl ST
FTH 1 FHTH 11
ST T JUTASIT pH &1
(a) g @ 5
(b) WA IS G) 7
() @R (i) 4
(d) BT (iv) 8
¢
(a) (b) (© (@
(A) () @) @G (@)
(B) () (@) (@) ()
(C) @ @ (v) (i)
(D) (v) (@) (D) (@)
44, TRA H $o B W YUH! BT HaiferR S B
(A) HFA g (B) STeleH N
(C) e 9™ ¥ (D) aTeafd TR I 5N
45. T GBI % RO A § TR H 99 ¢
(A) TITHIOT &5 R STUeT it Tl B |
(B)  TITHIT &3 1 ST e W&l ¥
(C) TTHior &5 it & et g |
(D) TITHIOT &5 1 S79eT 32 Wl §
46. Tavafoene™ STIEM SN &1 7T 59 # ¥ form st &t fawiiRer W foran 7am o ?
(A) . FIUSE TUHWE SN
(B) HEIGT@R ST
(C) dHi= M
(D) WIS T
47. Trfafeg § 4 adia dfoum &1 DA T ST w8e STeqdsashl &I AUt Tfa =+ frem
HeqaAl o1 Tfd Ud Genfeld i o TR <kl TRI YSH Hidl ¢ ?
(A) FTT=T 19 (B) IT=% 29 (C) @T=T 30 (D) @g=q 31
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48. Match List - I (Institutions) with List - II (Functions) and select the correct answer by
using the code given below :

List - I (Institutions) List - IT (Functions)
(a) Parliament (i)  Formulation of Budget
b) C&AG. (i) Enactment of Budget
(c) Ministry of Finance (iii) Implementation of Budget
(d) Executing Departments (iv) Legality of expenditure

(v) Justification of Income
Code :
(@) () (o) ()
(A) (i) (@Gv) (@) @
B @) @Gv) @ (i)
Q) () @) @Gv) (i)
(D) Gv) @) 3G (V)

49. Foundation training to the newly recruited IAS (Probationers) is imparted by :
(A) Indian Institute of Public Administration
(B) Administrative Staff College of India
(C) L.B.S. National Academy of Administration
(D) Centre for Advanced Studies

50. Electoral disputes arising out of Presidential and Vice-Presidential Elections are settled

by :

(A) Election Commission of India
(B) Joint Committee of Parliament
(C) Supreme Court of India

(D) Central Election Tribunal

-00o0-
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48. FA I (HE@) &I g 10 (FE1) | GAfad d gC = 8 T e o1 g9 HEE WS

Tt 1 (Hem ) Tt 11 (%)
(a) HES (i) S 1 R
(b) HI. TUS . (i) S w1 STTYEIHA
(c) To=1 wae™ (iii) @SS 1 oA
(d) TIHN faam (iv) =IF ! e
(v) 3T & ifa
g

(@ (b)) (© @)
(A) (i) (@v) @G) (@)
(B) @) (@Gv) @@ (i)
Q) (v) (D) (v) (i)
(D) Gv) @) (D) (v)

49. T3 =AM TE.CTH, (TORHH) 1 SR Fr&T0T 2 S € -
(A) 3T SRS T Ufvesh TeH¥H g

(B) TefuftRfea Wk wicis 3% gfvean g1

oo

(C) UA.EN.TH. A3d TheH! % TSHMAEIH 51

(D) W= BR TEae ©eel gl

50. Ul IR STwHfa & gAE! | Fes-ed faam) s foer faan < @
(A) 9RA & frated & gr
(B) HHS = §gsd WiHfd g1
(C) 9RA o S=IqH AT g

(D) =i e SR g
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